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Geometry A Practice Final Exam

Multiple Choice

Identify the choice that best completes the statement or answers the question

B .
¥ 1. 'What is another name for BJ ?

<

A

Class:

Date:

Use the diagram to answer the following question(s).

a. OB
&) B

2. What is another name for Ej?
a. OB
b. JB

B

@ plane ADE, plane CGH
b, plane ADE, plane FBC
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3. The figure below is a rectangular shipping box. Name two different planes that contain DH are
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4. Find 4B.
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3. Identify the segment bisector of 4B, ﬁen find 4B, )
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a. lineM; 4B =138 c. lned; AB=19
By M; aB=38 ’ d. M;4B=19

6. The endpgints of GH are G(i3, 0)

a. (-5,4)

b, (-10,8)

7. Find the penmeter and area of the

Perimeter = 28 units

Area = 45 ynits?
b.  Perimeter = 18 units

Area = 81 ynits?

P=o+5+49
fr~ SCY =

and H(7, -8).
c. (4 —8)
(@) (2-4)

polygon with vertices 4 ( ~1 S) B( 1 -4)

¢. Perimeter = 14 units

Area = 42 ynits?
d. Perimeter = 26 units

Area = 36 units?
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Find the coordinates of the midpoint M.
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(5 8. Inthe diagram, m£BDA = 144°{}3md mZADC SR
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1. m£1=73° Find the complitment and the supplement of /1.

a.  Complement = 90°,"Supplement = 180° g} Complement ='17°, Supplement = 107°
b. Complement =27°, Supplement = 117° . Complement = 73°, Supplement = 80°
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the measure of thelarger angle.™

a. 78.8° TS
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b, 157.5°
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@Jg True; They are a linear pair.
b. True; They are vertical angles.

(5y + 68)°

(3x +18)F°
(3y +96)°

a. x=20,y=2
CP) x=8,y=14

(5x+2)°
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- . Two angles form a Imear pair, The measure of one anglé is elght times the measure of the other angle. Find

(o 160°
d. 80°

c. True; They are adjacent angles.
d. False
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[’n}) 15. Inthe diagram, c || d. Identify three numbered angles that have a measure of 105°.
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a. £2, 77 and Z1
b. 23, £7,and £4
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16. In the diagram, 4 Il 5. Find the value of x.

a. 120
b 60

: o
. BC bisects £4CD and j | k. Find the value o

B /(2w+24)°

c. 20
d. 160
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8. about 3.2 ynjts C. 10 units
b. 4 units < about 2.8 ynits
ee? 19, Write an equation of the line passing through the point (6, -2) that £§igaralleL fo the line y=d4x-11. .
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a’;,,: 21, Anarchitect is designing a garden for aclienton a planning sheet, The client requests the relocation of a
Wwater fountain by the ryle (x, y) - (x +9, - 7). Later, the client decides that they would prefer the water

fountain’s location moved from this new positiofi 5 units left and 2 units up;Find the composition as a single

transformation, ,
a, (x,yJ-—>(x+2,y-5) c. (x,y)—}(x«;-ll,y_lzj
B (53) > (x+4,-3) & (53) (r+14,y-9)
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m: A

¢ 22, Graph ABCD with vertiFfs B(2, 1), C(3,3) and D(3, 1) and its image after the reflection in the line »; x = 4.
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23, Graph AB with endpoints
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24, Graph AABC with vertices A(-4,0), B(-3, 2) and C(1, 2) and its image after the glide reflection.
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25, Graph polygon ABCD. w1th vertices A(4, -6), B(3, -3), @2, -4) and D(2,-6). Then, graph its image after a

rotanon of 90° counterclo_ ¢ about the origin.
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[ 29. Find mZKMN.

(F1x+ 16)°
vimye
L M N

c. 8

a. 56° :
/d?.:'.: 1040

b. 76°

In the diagram, A CDE = A GHI . Find the value of y.
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"y 31. Find m£BDC.

a. 70° c.
\b\ 5, a7° d.

62°
83°
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32. In the diagram, name the vector and select its component form.
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ID: A

"33, AX and E bisect each other at point M. Which theorem can be used to prove AABM = AXYM?

a. SS8S b. AAS c. ASA d SAS

34, BD blSGCtS ZADC and DB bisects £ABC. Which theorem can be used to prove AADB = ACDB?
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35. Which theorem can be used to prove to prove AJIH AHKT?
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Name: _ ID: A

.. 36. Which reason is"’lﬁot necessa-r-ij;to explain how you can find the distance across the lake?

g

U &

#8.  ASA Congruence Theorem
ib. Right Angles Congruence Theorem
{¢)  SSS Congruence Theorem

od. Corresponding parts of congruent triangles are congruent. ¢ i
€. Vertical Angles Congruence Theorem
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38, Findthe coordinates of t%ie circumeenter of ‘A ABC with vertices A(”i,-s), 3(55_2) ,and C(l,~—2).
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a. LP=3, BL=6 ¢. LP=9,BL=12
p, LP=15BL=45 &y LP=6,BL=9
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D: A

Name:

. NE =3 o \' = -;.f c. NE — 24 -~
b. NE=60 PR 4>y NE=30 AN

41. Which statement;ié;true;based on the diagram? S

et

/ABE and ZEBC are vertical angles.
. BE isan angle bisector.
= Points 4, B, and C are collinear.

d. none of these

®
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42. Which statement {itrue l;ased on the diagram?
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By LFMG and ZHMG are a linear pair. P
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43. Which of the following statements\;ié false?
: m pT PR L
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a. Linenand BD intersect at point D. WG Points 4, B, and C are collinear.
b. Line m intersects plane S at point C. 4 Line n is in plane S.
{_. A4. Whichofthe following statemnents 1f faﬁse?‘;
— —r
a. CDand ABare coplanar.
b. Plane Tand plane Sintersectat AB. . . _p g g o4 Peoi i
¥ b § Gaty [ Fedsac g

o oA,
o3 E!f’\; o

/o, Plane S contains points L, B, and E. ¥

.4~ Points 4, B,and C all exist in both planes S and T.

b 45. Inthe diagram, m£1 = (2 + 4)° and m£5 = (4x + 20)°. What is the measure of £27
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46. Determine which of the lines are,ff)arallcl'--and which of the lines are ;jéfpendicﬁiaf’.- P b o :
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5 4.

=115° B.m«1 = 1155 mZ2
1=65°,mz2=115 - P
é rr::il =115°, mg2=115° Qp}mél = 65°, m4L2
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Names: ID: A |

R

oS0 A search and rescue crew suspect that a ship sank at a/location that lsequldlstant from thg;‘_'_’t:h{ee yertic'ér_‘js"of
the Bermuda Triangle. Which statement below states the point of concurrency that the search and rescue

crew is looking for and the proper method for locating 7

Berrrl yd a

A. The search and rescue crew is looking for orthocenter, This is found by drawing the three altitudes ofa
triangle. :

B. The secarch and rescue crew is looking for the incenter. This is found by drawing the three angle bisectors
of a triangle.

C. The search and rescue crew is looking for the circumcenter. This is found by drawing the three
serpendicular bisectors of a triangle.

D. The search and rescue crew is looking for the centroid. This is found by drawing the three medians ofa

triangle.
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